Handout 6

Start with Total

Operating Costs

Total Operating Costs
$150,000

Separate Operating Costs into Fixed Costs and
Variable Costs. Separate Variable Costs into

Hours Costs and Miles Costs

Variable Costs
$100,000

‘ $50,000 \

/

S
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Hours

Hours Costs

1,000

Hours Cost

$70,000

Miles Costs

Miles

10,000

Miles Cost

$30,000

Allocate Variable Costs
to Routes Proportional
to Route Hours and

Miles

/ Hours

250

Hours Cost

$17,500

Hours

750

Hours Cost

$52,500

Miles

Route 1

3,000

Miles Cost

$9,000

Miles

7,000

Miles Cost

$21,000

Add Hours and Miles
Costs for each Route
& Calculate % of
Variable Costs

Hours Cost| $17,500
Miles Cost $9,000
Sub-Total $26,500
% of Total 27%

Hours Cost| $52,500
Miles Cost | $21,000
Sub-Total $73,500
% of Total 74%

Allocate % of Fixed

Costs to each Route

Using % of Variable
Costs

% of Fixed

27%

Sub-Total

$13,250

% of Fixed

74%

Sub-Total

$36,750

Add Fixed and Variable
Costs to Calculate Total Cost

‘Variable Cost $26,500

Fixed Cost

$13,250

Total Cost

$39,750

Variable Cost $73,500
Fixed Cost $36,750
Total Cost $110,250
Grand Total $150,000
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